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4 (2x-3)5 [*x (2%~ 3) J3xE - (2x— 3) =8 \/3 -%x? ua‘/‘rcr\/‘(‘
1 — ,,,_. =
) Calculate e W) 9’

. .
b(2x-3)7(2)Jz~x — (7—><"3)(aﬁ_x—z) . Chaih
’ rule
3-x? +wice .

2.) Calculate L, [(Zx —3)%3x7 + ﬂ =

= [otx (2x- 3) JK} + C’l"‘g’]o_?cixd"(x? ) * a%(i")

-0.7 ) a.? |
= 0.2 (x-3) ° (z)x? + ?Xg (ZK“*?) T x?

ungimpl i4red answe,

(’ “+s
Calcul i& 22 | _ (AN = A (A
3.) Calculate ] L T —j,

it (2A7+S54) = 3A(H15) =
(247 + 54 —1)%

g’ +204" 94 —fat7~1o2")
(24% +54 ~1) 7

_ [ 4t 1542 — 44
Cir st oA ) S nimplihed
Ay wWwer.

it




